Jﬁ@ TRTUIHE TR B HRel FHT (2 7WR)

-H: fie: THR:
4 x y(—z) © (x(—2))(—1) © (y4)2 8 x y(—2) 2 (x4)(—3) x(—Z)(y(—l))(—D
6 x 1A (6 x 5) D) 2 % OO D (D)
3 x y(_l)xz(x6)5x(_1)(y4)(_l) 773 x y(—5)(x5 Xys)(_l)
5% YD IRB (DY 6% % yz (x4 " y4)6
&% x YDt x 44) X0 % (2 x D

7x L D(3)D

www.snowmath.com



https://www.snowmath.com

J ﬁ CED) TRTUIHC TRTURM &1 IRA T (2 TR)

qm: feisp: TR
4 x y(—2) © (x(—2))(—1) © (y4)2 8 x y(—2) 2 (x4)(—3) x(—Z)(y(—l))(—2)
4x8 y6 i
x16

6X4 « y4(x3 « yS)(—2)

3 x y(—l)xZ (X6)5X(_1)()/4)(_1)
3x31

y5

5 x y(—4) 2 (x(—3) )2 © (y(—2) )2
5
xS y8

8)(8 « y(—4) (x4 « y4 )3
7x Y D(E3)D

8
© 26,9
7 y

7% y5x6 6 4x(—2)(y(—3))2
7,28
Y

789 x J IS x 3D
7

xlOyIO

62 x 20 % yh)P
626,20

X x 00 x y)D
212
X’y

www.snowmath.com



https://www.snowmath.com

